#OF UNITS

DESCRIPTION
Ph Phillips sheet! metal screw #14 x 2.5;’ ; 864
Banding machinélz clibs 1.8x%"( 800
Fh Phillips sheet|metal screw #6 x 1.75” 2012
Fh Phillips sheet|metal screw #10 x .5” 4616
*{\Iy@ilumbhuttc;T head flanged rivet /8 x %4 2694
Fh Phillips sheet ’metal screw #12 x .5“-—_ 3144
Black oxide hh gll‘ade 5 screw %-13 x 4.5” 50 |
Ph Phillips machine serew #10-32 x .5” 1849
Carriage holt %13 x 1.57 | 246
Wedge anchor 5I8|-11 x6”{ 31
Carriage bolt 5/16)x 2.25" — 276
Hex lag screw 9/64 x 3.5 | 42
Hex lag screw 3/8(x 2.25” 4H”M;*‘ 302
| Toggle bolt #10-24 x 4" - 400
8D common nail 2|5 o 7730
Double headed nalil 2,57 1792
4D galvanized nail 7062
10D finish nail I 972
Carriage bolt 3/8-16 x 5.5 207
Carriage bolt ax 2757 147
Carriage bolt 3/8-16 x 57 o 192
' Tension pin 1/8 x 111/4. a1
10D common nail 3 — 6185
Hh grade 5§ screw 3/8-16 x 3" — 1591
Hollow wall anchor 1/8x 4.5 115
Zinc ph Phillips mathine screw 8-32 x1.5" 400
Lag shield anchor 5/8, short 178
Lag shield anchor 51 6, short ( 20
6D finish nail ' 7395
Hh grade 5 screw %20 x 17 I 762
Rh slot machine scrrw 10-24 x 3 1275
Fender washer 5/16 x 27 L. 398
Hh grade 2 7/16-20 nut 1824
Zinc rh slot machine|screw %13 X 27 35
Cotter pin 1/16, 1-1/2" t 747
Zinc nylon insert lock nut %-20, 430




r

DESCRIPTION #OF UNITS
Ph Phillips shet metal screw #14 x 1.5” 313
Ph Phillips sheet metal screw #6 x 2° 3048
(A&C areaj _
Square nut #6-32 580
" Ph Phillips sheet metal scre 5931
. (A&C area)

i Ph Phillips sheet metal screiw #8 x 1.25” 700=C
Ph Phillips sheet metal screw #8 x 1.5” 1570
Ph Phillips sheet metal scre\Alc #8 x1.75” 1179
Ph Phillips sheet metal scre#r #x27 1 ?66
Ph Phillips sheet metal screvr 210 x 1.5° 216

[
Ph Phillips sheet metal screw #12 x 1.5” 2143
Hh grade 5 screw 3/8-16 x 1.25” 374
Ph Phillips sheet metal screw #14 x .5~ 2432
Ph Phillips sheet metal screw #14 x2” 2048
Lag shield anchor %, long - 10
Hollow wall anchor 3/16 x 2” ‘ 38
Lag shield anchor %, short | T 16
' Hex lag serew 516 x4.5" — | — 261
Hex lag serew 3/8 x 1.5” I 210
Toggle bolt 8-32 x 1.5” T ‘ 188
Toggle bolt 5/16 x 4" 233
Hex lag screw % x 27 303
Rh slot stove bolt 3/8-16 x 2.57 87

. Hex grade 5 nut 9/16-12 | { 259

[Carriags bolt 3/6-16x6" | ' '[ 381
Toggle bolt 3/16 x 6” T i 1M1

Mﬂg machine screw w/nut 313 x 3" a5
Rh combo machine screw ’/4-20 x ‘/z” | . 822
Hex lag serew 3/8 x 1.75" —_ 150
Hex lag screw % x 3.5” ' 185
Hex lag screw % x 2.75" | 99
Carriage bolt 3/8-1 x 1.5” j 240
Fh slot wood screw #12x 2" | | 208
Carriage bolt %-20 x %" ] 960
Carriage bolt 516-18 x 3" ———— 212
Carriage bolt 5/16-18 x 1.5 | | P 304
Brass fh slot wood screw #12 x 2 164
Carriage bolt 5/16-18 x 27 i ‘ 399

;— 1




DESCRIPTION

[ %0

F UNITS

Steam trap %” disc 1

Steam trap element assy 14, %", 23-14 :

Steam trap element assy 25,1”, 2310 |

1

Steam trap element assy 16, 17, 23-6

18

_Steam bucket trap mech assy B2-30/ B22-30

Steam bucket trap mech assy B3-125 532435

Steam trap strainer screen "

Steam ftrap lalve seat and head 2”

Steam buc:jet trap mech assy B2-15/ B22-15
Steam bucket trap mech assy B1X-15/ B12X-15

Steam_bucket trap bucket assy parts kit for Model B-1

Steam bucket trap gasketfcover kit

| Steam trap element assy 16, ¥2-3/4”, 235
Steam trap strainer cartridge and gasket for %”

Steam trap strainer cartridge and gasket for 3/3”

L‘ﬂiremold V5785, buff, metal combination connector

14

Wiremeold 2289, buff, metal side reducer connector

Wiremold 2111, buff, flat meftal external elbow

Wiremold 717, buff, metal 90 flat elbow

miremold V5715, buff, metal tee

| Wiremold V57482, buff, metal 2-gang box

Vi
Wiremold V5751-2, buff, metal 1-gang flush extention
}

1K

_lei[em&ld_ZZ'laC, buff, metal external elbow cover
[

LWErEmold 2210D, buff, metal entrance end

- | Miiremold ¥704, buff, steel 2-hole support strap
’ {
| Wiremold 71 8, buff, external elbow ]

Wiremold 8025, buff, metal corner box fitting |

Wiremold 5735, buff, metal round fixture
Wiremold 8040
Wiremold 8060




DESCRIPTION

#0OF UNITS

Carriage bolt % x 3.75” 269
Carriage bolt 3/8-16 x3” 1] 279
Hollow wall anchor % x 2.5” 103 -
Hammer drive concrete anchor ¥ x 1.5” 390 -
Concrete drop-in anchor 3/8-16, %2 drill 168
Toggle bolt ¥z x 6” 67
8D common pneumatic nail sleeve T 108
Hex lag screw % x 3" 1 96
Hollow wall anchor 3/16 x 3-1/8” - 283
Toggte bolt % x 6” 297
8D finish nail 3340
Lag shield anchor %, long 21
Ph Phillips machine screw #8-32 x 2" - 898
Flat socket head cap screw #10-24 x 1.25” \ 927
{C&A area)
Hex lag screw 5/16 x 1.757 399
H H grade 5 screw 5/8-11x3.5" 70
{A area only}
Fh slot machine screw %-20 x 1.25” ‘: 1044
(A&C area)
Fh slot machine screw 5/16-18 x 1" 589

- (A&C area)
Fh slot machine screw 5/16-18 x 1.25” 935
(C area only)
Fh slot machine screw 5/1 6-18 x2” 1231
(A%C area)
Rh slot machine screw 6-32 x 1.8, 1537
(A&C area)
Rh slot machine screw 10-32 x 27 1190
(A&C area) '
Carriage bolt 5/16-18 x 2.5” 50

L .

l Hex lag screw % x 2.5" 64

ifZinc; carriage bolt 5/8-11 x 1.5 T

;wonhington 1.75" bolt

Zinc hh gr-5 scéew 5/8-11 x 3.5’; | 12?? .
t Hollow wall anchor Y% x2.5". 1.105 .
Lch carrlage holt 1/243 X 2” T | 768 -
Banding strappmg, (plastic remforced) 7/16—wude D 4 1.
approx 900-ft rl°
annc gr-2 hex lag screw ‘/z X 3" 342 )
| Zine Rh slotted machine screw Y20 x 3” R L
: Zlnc fh slotted machine screw 6-32 x1. 25”‘ — 732 -
' 3440

k Zinc fh slotted screw #10 x 2.5” |

. TR S A S PN TG I T

Lrer
yeo n r',“l FEARL

T




DESCRIPTION ‘ # OF UNITS
Zinc rh slot machine screw 5/16-18 x 2.5” - 27
Zine rh slot machine screw 5/16-18 x 3” 138
Brass rh slot machine screw 516-18 x 3" | 231
- Zinc rh Phillips machine screw %-20 x 4" | 639
Zinc hh gr-5 screw 9/16-12 x 1.5” 328
Zinc rh slot machine screw 3/8-16 x 4" 389
Lag shield anchor %, short - 5
Lag shield anchor %, short | 156
Zinc toggle bolt %2 x 4” (ogs#14449) 20
Lag shield anchor 3/8,long { - 46
.Zinc hh gr-5 screw 9/16-12 x 1.75" 200
Zinc hh gr-5 screw 7/16-14 x 1.5” - 713
Zinc hh gr-5 screw %-20 x 1 57 114
Zinc fh slot machine screw 5/16-18 x 4" — 832
Preumatic 10D finish nail 3° 1-sleeve N 153
Zinc hh gr-5 screw %-13 x 1.25” | 229
Zinc hh gr-5 screw 5/8-11 x 4" 283
4D common nail 1.5 30,369
60 common nall 27 4916
Zinc hh gr-5 screw 5116-18 X 4° 603
Zinc hh gr-5 screw %13 x 4” ( B 407
Zine carriage bolt 5/16 x 3.75” 188
Zine hh gr-2 screw %-20 x 3/8 t T 1742
Zine hh gr-2 screw TM6-14x 1.757 21
Zine hh gr-5 screw %-20 x 2.25” 154
Zingc hh gr-5 screw %-20 x 47 7 72



